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Al 51,924
- 51,924
05 2IIRIE =3 207,69% 196,000 11,696
(@)= = FSl 207,696,000 207,696
= 103,848
Al 51,924
- 51,924
2 A8 SdA A 47,300 54,000 26,700
201 er23 | 2,300 4,000 A1,700
01 At2teltl 2,300 4,000 1,700
OSdA A 2| 800,000 800
OZdA AEEE & =578l
1,500,000 1,500
307 @I2t01 & 45,000 50,000 /5,000
012z € =4 45,000 50,000 25,000
OSLENA & =SUBAHI
45,000,000 45,000
geti ot 2eddl X2 2,100 2,100 0
Al 1,050
- 1,050
307 el2to| & 2,100 2,100 0
Al 1,050
- 1,050
0122 E /=4 2,100 2,100 0
Ogetkt Jrg=dl X
700,000 32 2,100
Al 1,050




2A:
X XH -
o e

=aak

ABS AL
FRAALSE MHIA MBS
S0 2

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | = 1,050
XIOHZ2I M A = 680,649 664,235 16,414
= 309,044
Al 109,021
- 262,584
oHetyME 29 383,913 357,918 25,99
= 307,130
Al 38,391
- 38,392
101 @124H| 192,901 232,138 A39,237
= 154,319
Al 19,290
- 19,292
02 JIEtM = 192,901 232,138 N39,237
OXIOH & MlIE] Q12| 192,901
—Jl2= 2,189,250 x5 12& 131,355
= 105,084
Al 13,135
T 13,136
—gues 283,250 «6H 123 16,995
= 13,59%
Al 1,699
- 1,700
—JIE2E 120,000 x5 * 12 7,200
= 5,760
Al 720
- 720
—gAZAHI 140,000 x5~ 122 8,400
= 6,720
Al 840
- 840
—A2l=E
9, 1602 *20AI 25 <123 10,992
= 8,794
Al 1,099
T 1,099
—GItE 4]
2,189, 2502 +84%+86%+1/30+1/7+35 Al 2H+5H 1,318
= 1,004
Al 132
T 132
e e ]
2,189, 2502 x35/40+B4%51+5H » 12 4,828
= 3,862




SH: AYED
B FOIAAET MUIA MR
&2l XIH22IMA 2= (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 483
- 483
—o2ensg
50,0002 *35/40+x5%H « 12 2,625
= 2,09
Al 263
- 263
—AIHEHI IR RS A
175,000 *35/40+5%H « 12 9,183
= 7,350
Al 919
- 919
201 Lt | 123,586 58,300 65,286
= 98,870
Al 12,358
- 12,358
01 Ar22eltl 52,104 29,000 23,104
ONYH 29 2et=g4|
430,000 12 5,160
= 4,128
Al 516
- 516
OclE2& s H&E72 4,200,000 4,200
= 3,360
Al 420
- 420
Odle ED| S dIER
360,0002 123 4,320
= 3,456
Al 432
- 432
OXIOHetdly T2 29 =28 s #2
] 7,000,000& 7,000
= 5,600
Al 700
- 700
OXIGAIRI 8N & =G
70,0003 *10E +13] 700
= 560
Al 70
- 70
OXIoHetA Ot 2gRde &4 =%
70,0003 *8H »23| 1,120
= 8%
Al 112




SH: AYED
g FUAHLSA MHIA WS
el X2l A 2= (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 112
OBZHQ DSYIXE
100,000 2 200
= 160
Al 20
- 20
OtHalQIAaE Fb] 1,000,000& 1,000
= 800
Al 100
- 100
OXIOHRtA e =2H| 28,404,000 28,404
= 22,724
Al 2,840
- 2,840
02 s3=gHl 9,600 7,000 2,600
OXINtAHEl HZRAY L B8R
150,000« 12& 1,800
= 1,440
Al 180
- 180
OXIOHRtAHIE] SSE S
650,000 122 7,800
= 6,240
Al 780
- 780
03 A2 I 61,882 22,300 30,582
OXIOHetAHE] =28 2 Al S
32,200,000& 32,200
= 25,760
Al 3,220
- 3,220
OXIDHIADNE HAF S 29,682,000 29,682
= 23,746
Al 2,968
- 2,968
202 04l 3,600 4,320 AT20
= 2,880
Al 360
- 360
01 =LHOLI 3,600 4,320 AT20
OXIBHHA MBI SAHA 20
10,0002 +63|x6E ~ 123 3,600
= 2,880
Al 360
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SH: AYED
g FUAHLSA MHIA WS
el X2l A 2= (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 360
204 MR AH| 2,625 3,180 N525
= 2,100
Al 263
- 262
2 S3g =3l 2,625 3,180 Ab25
otfeletssl 50,0002 35/40+5& 123 2,625
= 2,100
Al 263
- 262
301 EtE2 NS 17,201 22,010 N\4,809
= 13,761
Al 1,720
- 1,720
11 dALEBIXIE S 5,240 2,160 3,080
OXNSAtE2H 23 80,0002 *12 80
= 64
Al 8
- 8
OXIfetalte 2R 28 S
80,0002 *23] 160
= 128
Al 16
T 16
OXIOfetaidy =208 § 29
5,0003 102 *1002] 5,000
= 4,000
Al 500
- 500
14 DBt 2 a3 11,961 19,850 AT,889
OEEoA =E 343,0003 1 *27== 9,261
= 7,409
Al 926
- 926
Os&s=d0 g=t|
200,000« 1H* 122 2,400
= 1,920
Al 240
- 240
OXHES=A MAZALZOAM 2dt]
100,000 *321 300
= 240
Al 30
- 30




FA ABSL
M FOIAUEA MHIA R
el X2l A 2= (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 42,500 38,000 4,500
= 34,000
Al 4,250
- 4,250
012z & 3=l 42,500 38,000 4,500
O02ARE S 2B7YY)
5,000,000& 5,000
= 4,000
Al 500
- 500
OXIHE X 25285 P
20,000,000 20,000
= 16,000
Al 2,000
- 2,000
OXEE At 2ACIAYE 2SS 2|
10,0002 x 100 122 12,000
= 9,600
Al 1,200
- 1,200
OXIOHZE S AtEl X2 110,000 *50 5,500
= 4,400
Al 550
- 550
401 Al HIZL 201 1,500 0 1,500
= 1,200
Al 150
- 150
01 Al&HI 1,500 0 1,500
OXIfeta0ts e 4
500,000 *37H A 1,500
= 1,200
Al 150
- 150
XoHxIZ2teld] X2 (HEAY) 93,853 73,920 19,933
Al 70,390
- 23,463
307 elztol & 93,853 73,920 19,933
Al 70,390
- 23,463
05 2I2+RIE =S 93,853 73,920 19,933
OXIXIZ 228l X3 93,853,000 93,853
Al 70,390
- 23,463
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SH: AYED
HE: FOIAUST MHIA KT
el X2l A 2= (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Xhcel SE5=A 2,393 2,397 Yavi!
= 1,914
Al 240
- 239
201 =3 2,393 2,397 Yavi!
= 1,914
Al 240
- 239
01 Al 22| 2393 2,397 A
OXNBTSANY ROHIE L 82 S
2,393,000& 2,393
= 1,914
Al 240
- 239
X2 E2SHE 29 X2 (KHA) 200,490 230,000 29,510
201 2= 490 0 490
01 Al 22lH| 490 0 490
QUS| REE AN BA S
70,0003 *7& 490
307 elztol & 200,000 230,000 230,000
05 212t S 200,000 230,000 30,000
OXli=21Es4dH 24 N
200,000,000 200,000
FUEHAE K& 1,535,709 1,253,472 282,237
= 641,438
Al 415,829
- 478,442
JZHUALSAHH K& 102,200 51,100 51,100
= 51,100
Al 25,550
- 25,550
307 elztol & 102,200 51,100 51,100
= 51,100
Al 25,550
- 25,550
05 2IMRIE =3 102,200 51,100 51,100
OJI=8aAZ =AM XIS
102,200,000 102,200
= 51,100
Al 25,550
- 25,550
JAALSINHE &S 877,180 786,240 90,940
= 438,590
Al 219,295

_24_




SH: AYED
g FUAHLSA MHIA WS
Gl HAZHAY XA (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
- 219,295
307 gl2tol & 877,180 786,240 90,940
= 438,590
Al 219,29
- 219,29
05 212t =S 877,180 786,240 90,940
OFAALSHE] 012iss
877,180,000 877,180
= 438,590
Al 219,29
- 219,29
SSINALSTAI 125,656 128,400 N2, 744
= 62,828
Al 31,414
- 31,414
307 elzto| & 125,656 128,400 N2,744
= 62,828
Al 31,414
- 31,414
05 2ItRIE = 125,656 128,400 N2, 744
OSSIAALSTA 125,656,000& 125,656
= 62,828
Al 31,414
- 31,414
II=ELALYSXLE SAM SXE & A28 8,550 8,550 0
Al 8,550
307 @120l & 8,550 8,550 0
Al 8,550
05 21t =S 8,550 8,550 0
O =EAASFAME SALAL SXE
6,550,000& 6,550
Al 6,550
O = UALSXHE SAHAL A2 A S|
2,000,000 2,000
Al 2,000
II=ELALYSXHE S SEHI 24,000 13,800 10,200
Al 24,000
307 @I2t01 & 24,000 13,800 10,200
Al 24,000
05 2I2tRIE =S 24,000 13,800 10,200
O = UALSXHE SAHL SEH
24,000,000 24,000
Al 24,000
NS ROl At 41,060 40,720 340
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2A:
X XH -
o e

=aak

AASE L
FRAALSE MHIA MBS
FUBAHAE XA

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 20,530
Al 10,265
- 10,265
307 @I2to| & 41,060 40,720 340
= 20,530
Al 10,265
- 10,265
05 212t =S 41,060 40,720 340
OX SRS ALS 41,060,000 41,060
= 20,530
Al 10,265
- 10,265
IZ=ZAUAUSXNLE F0SAY X2 74,072 72,190 1,882
= 37,036
Al 18,518
- 18,518
307 elztol & 74,072 72,190 1,882
= 37,036
Al 18,518
- 18,518
05 21t =2 74,072 72,190 1,882
O =ELALSXHE AH0SAIY X2
74,072,000& 74,072
= 37,036
Al 18,518
- 18,518
SeEEX XIS XE ALY 15,208 8,972 6,236
= 7,604
Al 3,802
- 3,802
307 elztol & 15,208 8,972 6,236
= 7,604
Al 3,802
- 3,802
012z € 2=H] 15,208 8,972 6,236
OZMEEX xIZ2Hl XY A
15,208,000& 15,208
= 7,604
Al 3,802
- 3,802
A== XA 47,500 47,500 0
= 23,750
Al 11,875




SH: AYED
HE: FOIAAST AHIA KT
Gl HAZHAY XA (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
- 11,875
307 gl2tol & 47,500 47,500 0
= 23,750
Al 11,875
- 11,875
05 212t =S 47,500 47,500 0
OXe=E AAE MHIA XZ A
47,500,000 47,500
= 23,750
Al 11,875
- 11,875
101011 AHL Ol AL 74,240 0 74,240
Al 37,120
- 37,120
307 @120l & 74,240 0 74,240
Al 37,120
- 37,120
05 2IR”tRIE = 74,240 0 74,240
O1210t= AHaHOIE ALY 74,240,000 74,240
Al 37,120
T 37,120
JANEAE 2SN 48,360 0 48,360
Al 24,180
- 24,180
307 gl2to| & 48,360 0 48,360
Al 24,180
- 24,180
02 QB AANEE R 48,360 0 48,360
OZMTHEAE 2SN 48,360,000 48,360
Al 24,180
- 24,180
ZATHEAIE SAEAL MM AtSH 1,260 0 1,260
Al 1,260
307 21201 & 1,260 0 1,260
Al 1,260
02 2B YAIAE & 1,260 0 1,260
OZAMNEAIE SAL SXE=+
300,000 300
Al 300
OZAMEAIE SAHA S
960,000 960
Al 960
ZAEHAY 96,423 96,000 423
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